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QUESTION 1

For which three events can web application event listeners be registered? (Choose three.) 

A. when a session is created 

B. after a servlet is destroyed 

C. when a session has timed out 

D. when a cookie has been created 

E. when a servlet has forwarded a request 

F. when a session attribute value is changed 

Correct Answer: ACF 

 

QUESTION 2

A developer is designing the presentation tier for a web application that relies on a complex session bean. The session
bean is still being developed and the APIs for it are NOT finalized. Any changes to the session bean API directly
impacts the development of the presentation tier. Which design pattern provides a means to manage the uncertainty in
the API? 

A. View Helper 

B. Front Controller 

C. Composite View 

D. Intercepting Filter 

E. Business Delegate 

F. Chain of Responsibility 

Correct Answer: E 

 

QUESTION 3

You are building your own layout mechanism by including dynamic content for the page\\'s header and footer sections.
The footer is always static, but the header generates the tag that requires the page name to be specified dynamically
when the header is imported. Which JSP code snippet performs the import of the header content? 

A.  

B.  

C.  

Latest 1Z0-858 Dumps | 1Z0-858 Exam Questions | 1Z0-858 Braindumps                                2 / 3

https://www.pass4itsure.com/1z0-858.html
https://www.pass4itsure.com/1z0-858.html
https://www.pass4itsure.com/1z0-858.html


https://www.pass4itsure.com/1z0-858.html
2024 Latest pass4itsure 1Z0-858 PDF and VCE dumps Download

D.  

Correct Answer: A 

 

QUESTION 4

You want to create a filter for your web application and your filter will implement javax.servlet.Filter. 

Which two statements are true? (Choose two.) 

A. Your filter class must implement an init method and a destroy method. 

B. Your filter class must also implement javax.servlet.FilterChain. 

C. When your filter chains to the next filter, it should pass the same arguments it received in its doFilter method. 

D. The method that your filter invokes on the object it received that implements javax.servlet.FilterChain can invoke
either another filter or a servlet. 

E. Your filter class must implement a doFilter method that takes, among other things, an HTTPServletRequest object
and an HTTPServletResponse object. 

Correct Answer: AD 

 

QUESTION 5

You need to create a JavaBean object that is used only within the current JSP page. It must NOT be accessible to any
other page including those that this page might import. Which JSP standard action can accomplish this goal? 

A.  

B.  

C.  

D.  

E.  

F.  

Correct Answer: B 
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